The Drive & Control Company Reerth
Bosch Group

External gear pump Standard performance
AZPW

RE 10090
Edition: 06.2016

» Platform F
» Fixed displacement
» Sizes 4 to 22
» Continuous pressure up to 190 bar
» Intermittent pressure up to 210 bar
Features Contents
» Consistently high quality due to high-volume series Functional description 2
production Product overview AZPW preferred types 3
» Long service life Type code single pump 4
» Slide bearings for high loads Technical data 6
» Drive shafts conform to ISO or SAE and Flow and power characteristic curves 8
customer-specific solutions Drives 11
» Line connections: Connection flange or screw-in thread Dimensions — drive shaft 13
Dimensions — front cover 14
Dimensions — line connection 15
Dimensions — preferred series 16
Accessories 29
Spare parts 31
Notes on commissioning 32
Order number overview 33
AZ configurator 35
Fit4SILENCE app 35
Your notes 36

RE 10090/06.2016, Bosch Rexroth AG



2 AZPW Standard performance | External gear pump
Functional description

Functional description

General

Rexroth external gear pumps are available as standard
performance gear pumps in the series W. The displace-
ments are graded by different gear widths. Further configu-
ration variants are given by different flanges, shafts, valve
arrangements and multiple pump combinations.

Construction

The external gear pump consists essentially of a pair of
gear wheels supported in bearing bushes and the housing
with a front and a rear cover. The drive shaft protrudes
from the front cover where it is usually sealed by the shaft
seal. The bearing forces are absorbed by slide bearings.

v Axial compensation standard performance

These were designed for high pressures and have excellent
emergency running properties, especially at low rotational
speeds. The gear wheels have 12 teeth. This keeps both
flow pulsation and noise emission to a minimum. The inter-
nal sealing of the pressure chambers is achieved by delivery
pressure-dependent forces. This ensures optimum effi-
ciency. On the rear side, the movable bearing bushes are
pressurized with working pressure and pressed as seals
against the gear wheels. Special seals form the boundary of
the pressurized zone. The radial sealing at the tips of the
gear teeth against the case is provided by smallest possible
gaps that are formed pressure-dependent between the gear
wheels and the housing.

Axial seal

T

A...I
ii —

(L
]
|
1

L

Rear cover Front cover

External pressure field

ey &0

Internal pressure field

Radial sealing

T = Sealing zone
—N. .
> Compensation forces

¥ Layout AZPW (schematic diagram)

10 1112 13 14

Bosch Rexroth AG, RE 10090/06.2016

Snap ring
Shaft seal
Front cover
Slide bearings
Centering pin
Gear wheel
Drive shaft

8 Housing seal ring
9 Pump housing
10 Bearing bushing
11 Axial field seal
12 Support element
13 Rear cover

14 Hexagon screw

NO O WNR




3

External gear pump | AZPW Standard performance

Product overview AZPW preferred types

Product overview AZPW preferred types

()
S| <
a |~

Version

Page
20

Version

Page

Version

Suction port in the front cover

el
(9\]

21

26

22

Suction port in the front cover

~
N

23

Line connections in Non-standard

version

RE 10090/06.2016, Bosch Rexroth AG



4

AZPW Standard performance | External gear pump
Type code single pump

Type code single pump

01 02 03 04 05 06 07 08 09 10 11 12
laze | w | - I . 1 1 18&7f-71 |
External gear unit
| 01 | External gear pump | AZP |
Series
| 02 |Standard performance, platform F | w |
Series

03 | Standard housing
Stronger housing 2
Version
| 04 | Phosphated | 1 |
Size (NG)
. 3
05 Geometrlc'dlsplacement Vg [cm?3], 004 | 005 | 008 | 011 | 014 | 016 | 019 | 022
see "Technical data" on page 6
Direction of rotation
06 | Viewed on drive shaft clockwise R
counter-clockwise
Drive shaft Suitable front cover
07 |Tapered shaft 1: B, P [od
1:8 (o] H
Dihedral, claw T N
Splined shaft SAE J744 16-4 9T R R
DIN 5482 B17 x 14 B, P F
Parallel keyed shaft SAE J744 16-1 A R Q
Front cover
08 | Rectangular flange 280 mm B
236.47 mm (o)
2-bolt flange 282.55 mm SAE J744 82-2 A R
Z50 mm connection variant 1 N
250 mm connection variant 2 P
4-bolt mounting 52 mm with O-ring T
Line connection
09 [Thread UNF-2B, SAE O-ring 12
Square flange B2 20
Square flange éié 30
Non-standard size XX
Sealing material
10 | NBR (nitrile rubber)
FKM (fluoroelastomer) P

Bosch Rexroth AG, RE 10090/06.2016



External gear pump | AZPW Standard performance 5
Type code single pump

01 02 03 04 05 06 07 08 09 10 11 12
laze | w | - |+ f-] [ [ [ | [ |s8]-] ]
Rear cover
|11 |Withoutvalve (standard) | B |

Special version

12 | Serial number, e.g., SO001 SXXXX
Without nut and washer S0007
For mounting on an axial piston unit and suction port in the front cover S0036
For mounting on an axial piston unit S0081
For mounting on an axial piston unit and line connections in Non-standard version S0593

Note

» Not all of the variants according to the type code are

possible.

» Please select the desired pump with the help of the
selection table (preferred types) or after consultation
with Bosch Rexroth.

» Further options are available on request.

RE 10090/06.2016, Bosch Rexroth AG



6 AZPW Standard performance | External gear pump
Technical data

Technical data

General

Installation position

Any

Mounting type

See proposal drawing

Line connections

See proposal drawing

The screw threads for the suction and pressure port, that are man-

ufactured true to gauge, are deformed slightly due to the pump
assembly. The mounting of conventional screw fittings in accor-
dance with DIN EN ISO 1179, 6149, 9974 etc. is easily possible.

Direction of rotation (viewed on drive shaft)

Clockwise or counter-clockwise,
the pump may only be driven in the direction indicated

Drive shaft loading

Radial and axial forces only after consultation

Ambient temperature range 6 °C

-30 to +80 with NBR seals
-20 to +110 with FKM seals

Hydraulic

Hydraulic fluid

Mineral oil according to DIN 51524, 1-3, however under higher load

at least HLP compliant with DIN 51524 Part 2 is recommended.
Please observe data sheet 90220.
Other hydraulic fluids on request

Hydraulic fluid temperature range 6 °C -30 to +80 with NBR seals (NBR = nitrile rubber)
-20 to +110 with FKM seals (FKM = fluoroelastomer)

Viscosity range Permissible in continuous v mm?2/s 12 to 800

operation

Recommended in continuous Vopt mm?2/s 20 to 100

operation

Permissible for cold start Vmax mm?2/s < 2000
Maximum admissible degree of contamination of the hydraulic fluid 20/18/15Y

Cleanliness level according to ISO 4406 (c)

v Direction of rotation, viewed on drive shaft

Note

» Safety requirements pertaining to the whole system
are to be observed.

» Please contact us for applications with frequent load
changes.

» The dimensions represent pumps for clockwise rota-
tion. The position of the drive shaft or suction and
pressure port changes for counter-clockwise rotation.

v ) Counter-clockwise rotation ‘ o) Clockwise rotation

1) For hydraulic systems or devices with function-related, critical fail-
ure effects, such as steering and brake valves, the type of filtration
selected must be adapted to the sensitivity of these devices.

Bosch Rexroth AG, RE 10090/06.2016




External gear pump | AZPW Standard performance
Technical data

7

AZPW-1x NG 004 005 008 011 014 016 019 022
Displacement, geometric, per revolution Ve cm® 4.0 5.5 8.0 11.0 14.0 16.0 19.0 22.5
Pressure in suction port absolute be bar 0.7to 3
Maximum continuous pressure 1 bar 190 190 190 190 190 190 180 170
Maximum intermittent pressure b2 bar 210 210 210 210 210 210 200 190
Maximum pressure peak b3 bar 230 230 230 230 230 230 220 210
Minimum speed at 12 mm?/s and < 100 bar Mmin - PM 700 700 700 700 700 700 700 700
100 to 180 bar rom 1200 1200 1000 1000 800 800 800 800
180 bar to p, rom 1400 1400 1400 1200 1000 1000 1000 1000
at 25 mm?/s and  p, rom 700 700 700 700 700 700 700 700
Maximum speed at p, Mmax PM 3500 3500 3500 3500 3000 3000 3000 2500
Vv Pressure definition
————————————————————————————————— - b3
U Y | L W | 2 - pZ
(]
5 pe======———f-~ [~~~ - b1
?
o
a
maximum
20s
Time ¢
b1 Maximum continuous pressure
b2 Maximum intermittent pressure
b3 Maximum pressure peak
Design calculations for pumps Key
Vgxnxm, ) Ve  Displacement per revolution [cm?]
Flow v = 1000 [I/min] Ap  Differential pressure [bar] (Ap = p - pe)
n Rotational speed [rpm]
VgxAp .
Torque M = [Nm] q,  Flow [I/min]
20 X 71 X Mhm M  Torque [Nm]
2rxMxn xA
Power P - _ quxAp (kW] P Power [kYV] N
60000 600 x 14 v Volumetric efficiency!
Mx 20 X I X Jpm Mhm  Hydraulic-mechanical efficiency?!
Pressure Ap = - v. [bar] ne  Total efficiency (7¢ = v X hm)?
[
P x 600 x
Ap = ————— [bar] qv
qv
) gy x 1000
Displacement ~ V; = ————— [cm3]
nxmny
Mx 20 xgrx
Ve = _MX VXA X Phm [cm3]
Ap
Rotational qy x 1000
n =-—— [rpm]
speed Vex 1y

1) Parameter as a decimal, e.g. 0.9

Note

On the following pages you can find diagrams for a rough

calculation.

RE 10090/06.2016, Bosch Rexroth AG




8 AZPW Standard performance | External gear pump
Flow and power characteristic curves

Flow and power characteristic curves

¥ Flow

70
—— p=20bar

65 o o
- == - py=maximum

60 intermittent ’
qv=f(n, Vg), incl. ny 4

55

50

45

40

35

Flow gy [I/min]

30

25

20

15

10

0 1000 2000 3000
Rotational speed n [rpm]

4000

v Size 4 v Size5

10 30 10 30

Drive power P [kW]
(6]

0 0
0 500 1000 1500 2000 2500 3000 3500

Rotational speed n [rpm]

Bosch Rexroth AG, RE 10090/06.2016

Drive torque M [Nm]

Drive power P [kW]
o

0
500 1000 1500 2000 2500 3000 3500

Rotational speed n [rpm]

Drive torque M [Nm]



External gear pump | AZPW Standard performance 9
Flow and power characteristic curves

v Size 8 v Size 11
20 80 20 80
70 70
15 60 15
= 50 = — =
1S S
z z S z
A& = A& =
d 10 3 & 10 )
3 g : g
a e a kel
2 2 2 2
a 5 a 5
5 | 5 |
1 1
| |
I I
| |
0 0 0 0
0 500 1000 1500 2000 2500 3000 3500 0 500 1000 1500 2000 2500 3000 3500
Rotational speed n [rpm] Rotational speed n [rpm]
v Size 14 v Size 16
20 80 20 80
S
QQ,U
70
V)
A
v
= ar ——
15 15 Apz210bar A 60
2 3 E z
oy = & =
g 10 g g 10 g
3 g 3 g
a S a S
2 g 2 ®
8 5 = 5
5 | 5 |
1 1
| |
I I
| |
0 0 0 0
0 500 1000 1500 2000 2500 3000 0 500 1000 1500 2000 2500 3000
Rotational speed n [rpm] Rotational speed n [rpm]

RE 10090/06.2016, Bosch Rexroth AG



10  AZPW Standard performance | External gear pump

Flow and power characteristic curves

100

v Size 19
25
20

§ 15

=¥

)

2

o

o

(0]

Z 10

a
5
0
0

Note

0
500 1000 1500 2000 2500 3000
Rotational speed n [rpm]

Drive torque M [Nm]

Characteristic curves measured at v = 32 mm?/s and

0 =50 °C.

Bosch Rexroth AG, RE 10090/06.2016

v Size 22
25
20

Z 15

1y

o

2

(e}

o

g

= 10

a
5
0

0

100

0
500 1000 1500 2000 2500
Rotational speed n [rpm]

P=f(n, p),incl. 7
M=f(n, p),incl. g - === ~=-

Drive torque M [Nm]



Dimensions [mm]

Drives

. Elastic coupling

VvV =

The coupling must not transfer any radial or axial forces

to the pump.

» The maximum radial runout from the shaft to the spigot
may not exceed 0.3 mm.

» See the coupling manufacturer’s assembly instructions

for acceptable shaft misalignments.

3.

>

v

External gear pump | AZPW Standard performance 11

Drives

Coupling dog

For attaching the pump directly to an electric motor or
combustion engine, gear, etc.

The pump shaft has a special coupling dog and driver (3)
No shaft seal

Drive-side installation and sealing according to the
following recommendations and dimensions

2. Coupling sleeve

» To be used on splined shaft profile according to
DIN and SAE

» Attention: No radial or axial forces are permitted on the
pump shaft or coupling sleeve. The coupling sleeve must
be free to move axially.

» The distance between the pump drive shaft and drive
shaft on the customer side must be 2* mm

» Oil-bath or oil-mist lubrication is required

Drive shaft on
the customer

34 Pump drive shaft

side
| 2
H-————1— Lo
N
e N
[
2+t
Drive shaft M, [Nm] Size Pmax [bar]
F 100 4to 16 210
19 200
22 190
R 110 4to0 16 210
19 200
22 190

min. 8

ﬂ52+0,046
252.703

>}

\_/‘H
2/ 250 3

Drive shaft M., [Nm] Size Pmax [bar]

N 52 4to14 210
16 180
19 150
22 130

» Drive shaft on the customer side (1)

>

— Case-hardening steel DIN 17210 e.g., 20 MnCrS 5
case-hardened 0.6 deep; HRC 60%3

— Seal ring running surface ground without rifling
Rpax<4 pum

Radial shaft seal on the customer side (2)
— Provide with rubber cover (see DIN 3760, type AS, or
double-lipped ring)

— Provide installation edge with 15° slant or install

shaft seal with protection sleeve

RE 10090/06.2016, Bosch Rexroth AG



12 AZPW Standard performance | External gear pump
Drives

4. Tapered and keyed shafts

Drive shaft  M,,,, [Nm]? Size Pmax [bar]
(o3 130 410 16 210
19 200
22 190
H 130 4 to 16 210
19 200
22 190
Q 55 4to 14 210
16 190
19 165
22 140

5. V-belts and straight gear wheels or helical toothed gear
drives without outboard bearing

For V-belt or gear wheel drives, please contact us specify-

ing the application and mounting conditions (dimensions a,

dm, dw and angle a). For helical toothed gear drives, details

of the helix angle B are also required.

all

I

QO

1) These values only apply while adhering to the defined conditions
on page 6. Please consult Bosch Rexroth if the specified values
are to be exceeded.

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm]

Dimensions - drive shaft

v Tapered shaft 1:5

Cc

H

v
N

38:0.6;; 0 DIN 128-A12-FSt
4006 0 © 3x5 DIN 6888
8:0. N
17 & g
3 & T
W —
OV &
= o
/*: Hx A
1:5 o
= ® M12 x 1.5-m-06

v Tapered shaft 1:8

o DIN 128-A12-FSt

39.5:0.6
274205 = 3x5 DIN 6888

S

0

»

ﬂjﬂ{T !
Te)
©
©
~—
[N
12i0.35

Dihedral claw

6.5%03
T 2.7+OA5
1AL

2170027
0.025
8..083

Pump without shaft seal,
see page 19

External gear pump | AZPW Standard performance
Dimensions — drive shaft

v Splined shaft (SAE J744 16-4 9T)%

13

R min. 21.8 mm usable 31.5:0.4
spline length 6.2:0.1
—
H 5
S | <
< =
Qy | S
0 —
i
«
ANSI B92.1 9T 16/32 SP 8:05
Tooth thickness § = 2.357. 030 12,595
v Splined shaft (DIN 5482 B17 x 14)
min. 14.8 mm usable 23.5.08
spline length 2405

!Z16.540'27

i

B 17x14 DIN 5482

v Parallel keyed shaft (SAE J744 16-1 A)

Q 3205 0 8:0.4
I T

] <
= S ~
<@ [Te] S
™ ™~ 3 S
~ Tl @ m~h ~
~ 0 —
— — Q

i

Passfeder
4x20 DIN 6885

Tooth thickness § = 3.2.0.030

1) In combination with front cover B
2) In combination with front cover P and front cover N
3) For combination with an axial piston unit, see page 24 to 28

RE 10090/06.2016, Bosch Rexroth AG




14  AZPW Standard performance | External gear pump Dimensions [mm]
Dimensions — front cover

Dimensions - front cover

v Rectangular flange 280 mm Vv 2-bolt mounting @50 mm, connection variant 1
B o N <% 60:0.2
& 2 &
7.2+0.1 < Q% pas 7.2+0.1 30+0.1
- sy 2 .
g8 9 B ‘ \@
So| < S L o &] 8 <
8 o 2 1 | i 4 Sl 2
— T o —
NI © 8 8 3 L A
= — g — wargl ,@ < g
q ' ~—
I Y Ll © \+/
o
12,544 = 79:02 ‘ = [® 2xM10-10.9
< £
© 90115 £
v Rectangular flange 236.47 mm Vv 2-bolt mounting @50 mm, connection variant 2
(o) P
4.8:0.1 71.4102 83 3 80
'?c? 8.5:0.11 39 7.2:0.1 ~ 30
- 1 3| - = T
; © 9 sy E ‘
T BN\ 4 a
H—] Al & b "
=] — Q ™| <
g T © J% — © bl
SN Sl A
,\c') ﬂ ™ & ‘ 29) @ _ §r)
ﬁ: D T @
S |
[ 19:0.1 87.2%1°
v 2-bolt flange 82.55 mm, SAE J744 82-2 A ¥ 4-bolt mounting @ = 52 mm with O-ring
R 12.505 3 T 10.3%03 60:0.2
6.2+0.1 © fe————
SAE-A Y N 7.2:0.1 b= 30:0.1
11+O.27 > g —
C NV 5 53 =
ol ™~ = > ‘,: gg L IS
; o ; -~ = y A
an 0 g S{\ fl - i Qy ©, D, 2 @
o =) i N 4 | i p Y
2 L ! } = 1 3 @ ‘ =k E\) (?l)
) . lod ™~ :
M i a6l & GRS
8:0.5 I 1.8+0-2 || S N
20, 106.4:015 3702 3|88 & 4xM10-10.9
127+1.5 2.7+0.5 ‘
; 6'5+0.3

1) For combination with an axial piston unit, see page 24 to 28

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm]

Dimensions - line connection

v Thread UNF-2B, SAE with O-ring

External gear pump | AZPW Standard performance 15

Dimensions — line connection

12 Size Pressure side Suction side
D
P/S " P F S D E F
4to5b 3/4-16 UNF-2B 30.2 0.5 14 7/8-14 UNF-2B 35 0.5 17
& I ""t 8 to 22 7/8-14 UNF-2B 35 17 11/16-12 UN-2B 45 0.5 19
F?
v Square flange
20 & I50 Size Pressure side Suction side
m c D c D E
%& » 4to05 15 35 M6; 13 deep 15 40 M6; 13*1 deep
'CP E 81to 22 15 35 M6; 13 deep 20 40 M6; 13*1 deep
D
30 Size Pressure side Suction side
//T\ c D c D E
\}; 4108 135 30.2 M6; 13 deep 135 30.2 M6; 13*1 deep
C E 11to 22 13.5 30.2 M6; 13 deep 20 39.7 M8; 13*1 deep
D

RE 10090/06.2016, Bosch Rexroth AG



16  AZPW Standard performance | External gear pump Dimensions [mm]
Dimensions — preferred series

Dimensions - preferred series

v Tapered shaft 1:5 with rectangular flange 280 mm
AZPW-11- ... CB20MB

38:06 B=0.7
o -
7.2+0.1 A+0.5 2
L0
<
— [s2)
-
W
™~
ool W0 ,773}>
g -
g
o
[¢9]

|
\
|
|
100*15
100:0.2
120+1.5

i

|
T
9:0.11

=
© D
= 15
12.504 ‘ 3510.15 ‘
7.80.35 C
__\ —
1:5 | B 73
Clockwise rotation:
[ As shown in drawing
He=r—-1+—-—-—-1—-1—

Counter-clockwise rotation:
Suction and pressure port interchanged

D N

e

L |

40+0.15
@ DIN 128-A12-FSt c
< DIN 936- D 1
( M12x1.5-m-06 | w 1~ a“/ ! ‘ )
o | & | A Drawing number:
| I = A 061 900 500

)
o

© 3x5DIN 6888 | | i

NG Order number Maximum Maximum Dimensions
Direction of rotation intermittent rotational A B c D
Counter- Counter- F;::]s ure p ;f::'?
clockwise clockwise
R983074473 R983074465 210 3500 39.9 83.8 15 M6; 13*1 deep
5 R983074474 R983074466 210 3500 41.1 86.3 15
R983074475 R983074467 210 3500 43.2 90.4 20
11 R983074476 R983074468 210 3500 a7 95.4 20
14 R983074477 R983074469 210 3000 47.5 100.4 20
16 R983074478 R983074470 210 3000 47.5 103.8 20
19 R983074479 R983074471 200 3000 47.5 108.8 20
22 R983074480 R983074472 190 2500 55.1 114.2 20

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm]

v Splined shaft (DIN 5482 B17 x 14) with rectangular flange 280 mm
AZPW-11 - ... FB20MB

External gear pump | AZPW Standard performance 17

Dimensions — preferred series

23~5-0.8‘ B=0.7

f
7.2:0.1 Az0.4

T R
oo
2 2,
s +1-8
S
.-
D

12.504 ‘ 35:0.15!

2+0.5 - C

216 5027
i
|

[BERE]

84,0

min. 14.8 — ‘
usable

spline length

.

34.5:0.1

100+0.2

9:0.11

12015

L
-+

I

Clockwise rotation:
As shown in drawing

Counter-clockwise rotation:
Suction and pressure port interchanged

Drawing number:
A 071 600 400

N

NG Order number Maximum Maximum Dimensions
Direction of rotation intermittent rotational
Counter- pressure p, speed
clockwise Clockwise [bar] [rpm] A B C D
R983072848 R983072840 210 3500 39.9 83.8 15 M6; 13*! deep
R983072849 R983072841 210 3500 41.1 86.3 15
R983072850 R983072842 210 3500 43.2 90.4 20

11 R983072851 R983072843 210 3500 a7 95.4 20

14 R983072852 R983072844 210 3000 47.5 100.4 20

16 R983072853 R983072845 210 3000 47.5 103.8 20

19 R983072854 R983072846 200 3000 47.5 108.8 20

22 R983072855 R983072847 190 2500 55.1 114.2 20

RE 10090/06.2016, Bosch Rexroth AG



18

v Tapered shaft 1:8 with rectangular flange £36.47 mm
AZPW-11 - ... HO30MB

AZPW Standard performance | External gear pump
Dimensions — preferred series

Dimensions [mm]

B+0.7
4.8+0.1 Az0.4
S
o [e)]
g t
S — ]
3 | — PR “
: 14O
— N —
3 0
& 8]
1:8
Los0s 135
- 30.2:0.15
39.5:06
27.4:05
| E|
«? v—w'__J
8 -1 - — - — - — | — qcl)
1 [ee]
3
< I
= |
12:0.35 ‘
D+0.15
Snap ring
DIN 471-12x1 c
< DIN 936- |
@ M12x1.5-m-06 rox 3 E
// .
(Do -

32.5:0.1

96.1:0.2
112°15

8.5:0.11

71.4:0.2

87.2+15

Clockwise rotation:
As shown in drawing

Counter-clockwise rotation:
Suction and pressure port interchanged

| A Drawing number:
] A 071 900 900

_ L \@// B I_
€ 3x5 DIN 6888

NG Order number Maximum Maximum Dimensions

Direction of rotation intermittent rotational

Counter- Counter- L G

clockwise clockwise [bar] [rpm] A B (o] D E F

R983072831 R983072823 210 3500 414 854 135 30.2 M6; 13*1 deep M6; 13*1 deep
5 R983072832 R983072824 210 3500 426  87.9 13,5 30.2

R983072833 R983072825 210 3500 447 92 135 30.2
11 R983072834 R983072826 210 3500 48.5 97 20 39.7 M8; 13*! deep
14 R983072835 R983072827 210 3000 49 102 20 39.7
16 R983072836 R983072828 210 3000 49 105.4 20 39.7
19 R983072837 R983072829 200 3000 49 1104 20 39.7
22 R983072838 R983072830 190 2500 56.6 115.8 20 39.7

Bosch Rexroth AG, RE 10090/06.2016




Dimensions [mm]

v Dihedral claw with 4-bolt mounting 52 mm
AZPW-11 - ... NT20MB

External gear pump | AZPW Standard performance 19

Dimensions — preferred series

7.2:01

A=0.4

0.025
.083

15.7#1

-
4‘ 2170007
< |

14.3:01
min. 10.6

‘ .
34.31.5

| e\ Ve
T o
" e
| 3 L
2.7%05 15 D
6503 | | | 35:015 | T axM10-10.9
T
10.303
‘ —
35 j 3 o O Clockwise rotation:
L‘?‘j‘ ,;' 38 . M- - T J As shown in drawing
YIRS @
-5 Counter-clockwise rotation:
o | — Suction and pressure port interchanged
1.8%0 '
3+0A2
40+0.15
C
: T
1900 210 145 @ > !
For driver dimensions, - ] A Drawing number:
see page 31 N IR ] A 071 100 600
NG Order number Maximum Maximum Dimensions
Direction of rotation intermittent rotational
Counter- Counter- pressure p;  speed
clockwise clockwise [bar] [rpm] A B (o3 D
4 R983072863 R983072856 210 3500 37.4 75 15 M6; 13*1 deep
R983072864 R983076112 210 3500 38.6 77.5 15
R983072865 R983072857 210 3500 40.7 81.6 20
11 R983072866 R983072858 210 3500 44.5 86.6 20
14 R983072867 R983072859 210 3000 45 91.6 20
16 R983072868 R983072860 180 3000 45 95 20
19 R983072869 R983072861 150 3000 45 100 20
22 R983072870 R983072862 130 2500 52.6 105.4 20

RE 10090/06.2016, Bosch Rexroth AG



20  AZPW Standard performance | External gear pump
Dimensions — preferred series

v Tapered shaft 1:5 with 2-bolt flange 250 mm without nut and washer
AZPW-11 - ... CP20MB-S0007

Dimensions [mm]

40.2:0.6
7.2+0.1 A0.4
IT5)
—
o X
g8
-k i
3 4 0
N =
8
i
| -0
1:5
15 D
35:0.15
10.3:0.35 B:0.7 max. 6.6

!
|
mE|

&
[
;
i
|
i

|
nsn

e

14.3

min. 10.6

30 30

Z

34.3:15

45.7

% 2xM10 - 10.9

6D

&
)

Clockwise rotation:
As shown in drawing

Counter-clockwise rotation:
Suction and pressure port interchanged

40+0.15
C
Lo T
\ gny ! !
el B \@( ] A Drawing number:
e B —:<> A 081 100 100
sl L
© 3x5 DIN 6888 i
NG Order number Maximum Maximum Dimensions
Direction of rotation intermittent rotational
Counter- pressure p, speed
clockwise Clockwise [bar] [rpm] A B (o} D
R983072788 R983072780 210 3500 37.3 75 15 M6; 13* deep
5 R983072789 R983072781 210 3500 38.6 77.5 15
R983072790 R983072782 210 3500 40.6 81.6 20
11 R983072791 R983072783 210 3500 44.5 86.6 20
14 R983072792 R983072784 210 3000 45 91.6 20
16 R983072793 R983072785 210 3000 45 95 20
19 R983072794 R983072786 200 3000 45 100 20
22 R983072795 R983072787 190 2500 52.6 105.4 20

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm]

v Tapered shaft 1:5 with 2-bolt flange 50 mm
AZPW-11 - ... CN20MB

External gear pump | AZPW Standard performance 21

Dimensions — preferred series

14.3+0.1

60+0.2

max. 6.6

]

40.2:0.6
7.2+0.1
TS
oy W
Sg
[S1s)
pay -
19
Q
1:5
10.3+0.35
=
17

F
s

@ DIN 128-A12-FSt

<2 DIN 936-
M12><1.5-m-06

© 3x5 DIN 6888

84,7

40%0.15

D N

34.3:15

% 2xM10 - 10.9

min. 10.6

Clockwise rotation:
As shown in drawing

Counter-clockwise rotation:
Suction and pressure port interchanged

Drawing number:
A 071 700 800

NG Order number Maximum Maximum Dimensions
Direction of rotation intermittent rotational
Counter- pressure p, speed
clockwise Clockwise [bar] [rpm] A B (o] D
R983072886 R983072878 210 3500 37.3 75 15 M6; 13*! deep
R983072887 R983072879 210 3500 38.6 77.5 15
R983072888 R983072880 210 3500 40.6 81.6 20

11 R983072889 R983072881 210 3500 44.5 86.6 20

14 R983072890 R983072882 210 3000 45 91.6 20

16 R983072891 R983072883 210 3000 45 95 20

19 R983072892 R983072884 200 3000 45 100 20

22 R983072893 R983072885 190 2500 52.6 105.4 20

RE 10090/06.2016, Bosch Rexroth AG



22

AZPW Standard performance | External gear pump
Dimensions — preferred series

v Parallel keyed shaft (SAE J744 16-1 A) with 2-bolt flange 282.55 mm (SAE J744 82-2 A)
AZPW-11 - ... QR12MB

Dimensions [mm]

D N

B+0.7
6.2:0.1 A:0.4
3
R B
o B2
ER -
I !
o 1 @
g &
r r— T -1 11— O
(@)
~—
12.545
& P
8x0.4
n —
S | p—"
S TS
5| 0 — Q
= I ! 3
e} - —
~— ~—
[ Q
= L]
\ <
[o0)
I i
32105 1 ‘

KEY.156 SQx750 LG

g

Shaft key 4x20

DIN 6885

| ‘

{s?

1) For dimension please see page 15

SAE-A flange

10° 10°

+&

106.4:0.15

127+15

Clockwise rotation:
As shown in drawing

Counter-clockwise rotation:
Suction and pressure port interchanged

—1

N

I

Drawing number:

A 091 500 300

NG Order number Maximum inter- Maximum rota- Dimensions

Direction of rotation mittent pressure tional speed

Counter-clockwise Clockwise b2 [bar] [rpm] A B P S

R983072763 R983072755 210 3500 39.9 83.8 3/4-16 UNF-2B 7/8-14 UNF-2B
5 R983072765 R983072756 210 3500 41.1 86.3 3/4-16 UNF-2B 7/8-14 UNF-2B

R983072766 R983072757 210 3500 43.2 904 7/8-14 UNF-2B 11/16-12 UN-2B
11 R983072767 R983072758 210 3500 a7 95.4 7/8-14 UNF-2B 11/16-12 UN-2B
14 R983072768 R983072759 210 3000 47.5 100.4 7/8-14 UNF-2B 11/16-12 UN-2B
16 R983072769 R983072760 190 3000 47.5 103.8 7/8-14 UNF-2B 11/16-12 UN-2B
19 R983072770 R983072761 165 3000 47.5 108.8 7/8-14 UNF-2B 11/16-12 UN-2B
22 R983072772 R983072762 140 2500 55.1 114.2 7/8-14 UNF-2B 11/16-12 UN-2B

Bosch Rexroth AG, RE 10090/06.2016




Dimensions [mm] External gear pump | AZPW Standard performance 23
Dimensions — preferred series

v Splined shaft (SAE J744 16-4 9T) with 2-bolt flange 282.55 mm (SAE J744 82-2 A)
AZPW-11 - ... RR12MB

6.2:0.1 A+0.4 SAE-A flange

1 1+0.27
-

il

15.7+1
f
|

.

282.55 0.05

|

\

\
100%15

i
uw

31.5x04 12505 106.4:0.15
i . 1
8105 P 127:15
(V: —
3 =
sl S s @
3 < I \ 3
~| w0 - -
S s
O Clockwise rotation:
| I S AN M As shown in drawing
<
@

[>]

f

|
s

Counter-clockwise rotation:
Suction and pressure port interchanged

min. 21.8
usable spline length

L h o

+&

I

Drawing number:
A 091 600 900

Splined shaft ANSI 92.1 _J !
9T 16/32 SP

Tooth thickness § = 2.357_9.03 sy
1) For dimension please see page 15
NG Order number Maximum inter- Maximum rota- Dimensions
Direction of rotation mittent pressure tional speed
Counter-clockwise Clockwise b [bar] [rpm] A B P S
R983075416 R983075404 210 3500 39.9 83.8 3/4-16 UNF-2B 7/8-14 UNF-2B
R983075417 R983075405 210 3500 41.1 86.3 3/4-16 UNF-2B 7/8-14 UNF-2B
R983075418 R983075406 210 3500 43.2 904 7/8-14 UNF-2B 11/16-12 UN-2B
11 R983075419 R983075409 210 3500 a7 954 7/8-14 UNF-2B 11/16-12 UN-2B
14 R983075420 R983075412 210 3000 47.5 100.4  7/8-14 UNF-2B 11/16-12 UN-2B
16 R983075421 R983075413 210 3000 47.5 103.8 7/8-14 UNF-2B 11/16-12 UN-2B
19 R983075422 R983075414 200 3000 47.5 108.8  7/8-14 UNF-2B 11/16-12 UN-2B
22 R983075423 R983075415 190 2500 55.1 114.2 7/8-14 UNF-2B 11/16-12 UN-2B

RE 10090/06.2016, Bosch Rexroth AG



24 AZPW Standard performance | External gear pump Dimensions [mm]
Dimensions — preferred series

v Splined shaft (SAE J744 16-4 9T) with 2-bolt flange 282.55 mm (SAE J744 82-2 A) for mounting on an axial piston unit and suction port
in the front cover
AZPW-11 - ... RR12PB-S0036

B+0.7

A+0.4

6.2:0.1 SAE-A flange éz-;r'

11+0.27 L

_I - ‘
o & | © /
o
LK | B & n A gl
Te] = « o — N —
N |E L 0 - v \oi
s} < = - e
Q L L _ i S EE \\ —
r g = %
© \Ng
h 1] e
§
175 4 | 185
Py ‘
¥ 106.4+0.15
31.5%04 9.0_5
127+15
0
©
—
5 S
g ]
x| © — ) )
§ Q AT — Clockwise rotation:
| 1o If\> + 73 As shown in drawing
| L |
8| ®

]

|

|

|

|

|

|

|
87.0.2

B
f
|
am

16| ] "

24

Drawing number:
A 061 700 900

Splined shaft ANSI 92.1 J
9T 16/32 SP
Tooth thickness § = 2.357_ 03

1) For dimension please see page 15

NG Order number Maximum intermit- Maximum rotational Dimensions

Direction of rotation tent pressure p, speed

Clockwise [bar] [rpm] A B P

R983074188 210 3500 41.2 86.3 3/4-16 UNF-2B

R983067892 210 3500 43.2 90.4 7/8-14 UNF-2B
11 R983074189 210 3500 45.6 95.4 7/8-14 UNF-2B
14 R983070537 210 3000 48.4 100.4 7/8-14 UNF-2B
16 R983074190 210 3000 49.9 103.8 7/8-14 UNF-2B
19 R983064536 200 2900 53.9 108.8 7/8-14 UNF-2B
22 R983074191 190 2400 55 114.2 7/8-14 UNF-2B

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm]

External gear pump | AZPW Standard performance
Dimensions — preferred series

v Splined shaft (SAE J744 16-4 9T) with 2-bolt flange 282.55 mm (SAE J744 82-2 A) for mounting on an axial piston unit
AZPW-11 - ... RR12PB-S0081

25

6.20.1

B+0.7

Ax0.4

]

—
I.DH
gl ™~
S| w
on|l
L
N
(e
N

~
N
-
S
| ©
S| v
S| S
| 1O
|
[SEERN]

31.5+0.4

f
|
==

|

\

\
100%12

[]

¥ PY

a

=

Splined shaft ANSI 92.1

9T 16/32 SP

16
24

C

Tooth thickness § = 2.357_¢ 03

1) For dimension please see page 15

{sv

&

11+0.27

SAE-A flange

o
&
K
o
g

106.420.15

)\/'\J‘

&\b
10°/10°

127+15

-
+&
L

-
|

|

Clockwise rotation:
As shown in drawing

Drawing number:
A 091 400 400

NG  Order number Maximum intermit- Maximum rotational Dimensions

Direction of rotation tent pressure p, speed

Clockwise [bar] [rpm] A B P S
5 R983072871 210 3500 41.1 86.4 3/4-16 UNF-2B 7/8-14 UNF-2B

R983072872 210 3500 43.2 90.5 7/8-14 UNF-2B 11/16-12 UN-2B
11 R983072873 210 3500 45.7 95.5 7/8-14 UNF-2B 11/16-12 UN-2B
14 R983072874 210 3000 48.2 100.5 7/8-14 UNF-2B 11/16-12 UN-2B
16 R983072875 210 3000 49.9 103.9 7/8-14 UNF-2B 11/16-12 UN-2B
19 R983072876 200 3000 52.4 108.9 7/8-14 UNF-2B 11/16-12 UN-2B
22 R983072877 190 2500 55.1 114.3 7/8-14 UNF-2B 11/16-12 UN-2B

RE 10090/06.2016, Bosch Rexroth AG




26  AZPW Standard performance | External gear pump
Dimensions — preferred series

Dimensions [mm]

v Splined shaft (SAE J744 16-4 9T) with 2-bolt flange 282.55 mm (SAE J744 82-2 A) for mounting on an axial piston unit

and suction port in the front cover
AZPW-11 - ... RR20PB-S0036

Splined shaft ANSI 92.1 _J
9T 16/32 SP
Tooth thickness § = 2.357_g 03

)\ /' \J‘
«:b
10°/10°

B+0.7
6.2:0.1 As0d SAE-A flange &
IS
_I 11027 l
. ,i . © /
S 0 e nd %
| — A — N
0
: D “a f_
® ~
s L] \ N
)g 1 \
®
— @
i
4 18.5
15 . M6; deep 13*1
‘ 3510.15 106.4+0.15
31.5%04 905 127+15
0
o)
i
~ L =
= ]
§ ) O Clockwise rotation:
ol X . .
0| 0 As shown in drawing
|
Q| &

e
+® |
L]

Drawing number:
A 081 200 600

NG Order number

Maximum intermit-

Maximum rotational

Dimensions

Direction of rotation tent pressure p, speed A B

Clockwise [bar] [rpm]

R983072894 210 3500 41.1 86.3

R983072895 210 3500 43.2 90.4
11 R983072896 210 3500 47 95.4
14 R983072897 210 3500 47.5 100.4
16 R983072898 210 3500 47.5 103.8
19 R983072899 200 2900 47.5 108.8
22 R983072900 190 2400 55.1 114.2

Bosch Rexroth AG, RE 10090/06.2016




Dimensions [mm] External gear pump | AZPW Standard performance 27
Dimensions — preferred series

v Splined shaft (SAE J744 16-4 9T) with 2-bolt flange 282.55 mm (SAE J744 82-2 A) for mounting on an axial piston unit
AZPW-11 - ... RR20PB-S0081

B:0.7
6.2+0.1 Az0.4
Bl ™~ u
3| L[]
HE 1
0
N [t}
© i
S + -2
o
i
rlo.3]A]
15 £ 106.4:0.15
‘ 3510.15‘ 127:15
31.5:04 905
0
0
i
5 S
3
&8 3 O Clockwise rotation:
1 ) )
I As shown in drawing
|
SIS

16
24

| [t g ]
Yol (™)

Drawing number:
A 091 300 700

o e L[
| 1
Splined shaft ANSI 92.11 | é D
9T 16/32 SP
Tooth thickness § = 2.357_9.03 40=0.15
NG Order number Maximum inter- Maximum rotational Dimensions
Direction of rotation Mittent pressure speed
Clockwise p2 [bar] [rpm] A B c D E
5 R983077585 210 3500 41.1 86.3 15 M6; M6;
R983077586 210 3500 43.2 90.4 20 13" deep 13" deep
11 R983077587 210 3500 47 95.4 20
14 R983077588 210 3500 47.5 100.4 20
16 R983077589 210 3500 47.5 103.8 20
19 R983077590 200 3300 47.5 108.8 20 M8;
22 R983077591 190 3200 55.1 114.2 20 13" deep

RE 10090/06.2016, Bosch Rexroth AG



28

v Splined shaft (SAE J744 16-4 9T) with 2-bolt flange 282.55 mm (SAE J744 82-2 A) for mounting on an axial piston unit

AZPW Standard performance | External gear pump
Dimensions — preferred series

and line connections in Non-standard version
AZPW-21 — ... RRXXMB-S0593

Dimensions [mm]

6.2+0.1 A+0.4
g
E LB
rs
Q 9.
E + -3
! S
0.5x45° D E
35:0.15
31.5:04  (13)
8+0.5
oS =AYy
2= 1R \
2l 5
i i
(] o
i o] S
P ] %
U \
min. 21.8 -
| {://'“451 -
e
— B, &
| NE
I
Splined shaft ANS192.1 U] ! E
otk SRRE
40+0.15

Tooth thickness § = 2.357_¢ 03

&

106.4:0.15

13012

Clockwise rotation:
As shown in drawing

-
&
L

N
|

||

Drawing number:
A 051 501 100

NG Order number Maximum intermit- Maximum rotation- Dimensions
Direction of rotation tent pressure p, al speed
Clockwise [bar] [rpm] A B c D E
R983035496 210 3500 39.9 84.7 3/8; 15 deep 3/8; 15 deep M6; min. 13 deep
R983035497 210 3500 41.1 87.3 3/8; 15 deep 3/8; 15 deep
R983035498 210 3500 43.2 91.4 1/2; 15 deep 1/2; 15 deep

11 R983035499 210 3500 47 95.7 1/2; 19 deep 1/2; 15 deep

14 R983035500 210 3500 47.5 101.4 3/4; 19 deep 1/2; 15 deep

16 R983035501 210 3500 47.5 104.8  3/4;19deep 1/2;15 deep

19 R983035502 200 3300 47.5 109.8 3/4; 19 deep 1/2; 15 deep

22 R983035503 190 3200 55.1 115.2 3/4; 19 deep 1/2; 15 deep

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm] External gear pump | AZPW Standard performance 29
Accessories

Accessories

Gear pump flanges, straight, for square flange 20 (see page 14)

Complete fitting with
O-ring, metric screw set, L4 S1
nuts and olive. . o - /
] al o - 7
® ®
= 8T )

—

Qa

Q

L2 | M6-8.8
L1
LK D1 D3 L1 L2 L4 LA 1 DB Screws O-ring Weight Order number p[barl
4 pcs. NBR [kgl

35 10L 8 30 23.0 39.0 40 19 6.4 M6 x 22 20 x 2.5 0.09 1515702 064 315
35 121 10 30 23.0 39.0 40 22 6.4 M6 x 22 20x 2.5 0.10 1515702 065 315
35 15L 12 30 23.0 38.0 40 27 6.4 M6 x 22 20 x 2.5 0.10 1515702 066 250
40 15L 12 35 28.0 43.0 42 27 6.4 M6 x 22 24 x 2.5 0.12 1515702 067 100
40 18L 15 35 27.5 44.0 42 32 6.4 M6 x 22 24 x 2.5 0.13 1515702 068 100
40 22L 19 35 275 445 42 36 6.4 M6 x 22 24 x 2.5 0.12 1515 702 069 100
40 28L 24 42 27.5 345 42 41 6.4 M6 x 22 24 x 2.5 0.15 1515702 008 100

Gear pump flanges, 90° angle, for square flange 20 (see page 14)

Complete fitting with _ L4
O-ring, metric screw set,
nuts and olive.

M6-8.8
13 M8-8.8

- -

Y

< :
T
|l 2P5
LK D1 D3 L1 L2 L3 L4 L5 LA 1 DB Screws O-ring Weight  Order number  p [bar]
2 pcs. 2 pcs. NBR [kel
35 10L 8 38 310 165 265 470 40 19 64 M6x22 M6x35 20%x25 0.16 1515702070 315
35 12L 10 38 31.0 16.5 26.5 47.0 40 22 64 M6x22 M6x35 20x25 0.16 1515702 071 315
35 15L 12 38 31.0 16.5 265 46.0 40 27 64 M6%x22 M6x35 20x25 0.15 1515702072 250
35 16S 12 38 29.5 20.0 31.0 48.0 40 30 64 M6x22 M6x40 20x25 0.18 1515702 002 315
35 18L 15 38 29.5 20.0 31.0 470 40 32 64 M6%x22 M6x40 20x25 0.18 1545702006 250
35 20S 16 45 34.5 25.0 38.0 56.0 40 36 64 M6x22 M6x45 20x25 0.24 1515702017 315
40 15L 12 38 31.0 225 36.5 46.0 42 27 64 M6x22 M6x22 24x25 0.15 1515702073 100
40 18L 15 38 30.5 22.5 36.5 47.0 42 32 64 M6x22 M6x22 24x25 0.17 1515702 074 100
40 20S 16 40 295 225 355 50.0 42 36 64 M6x22 M6x45 24x25 0.20 1515702011 250
40 22L 19 38 30.5 225 36.5 47.5 42 36 6.4 M6x22 M6x22 24x25 0.17 1515702 075 100
40 28L 22 40 32,5 28.0 43.0 49.0 42 41 64 M6x20 M6x50 24x25 0.24 1515702010 100
40 35L 31 41 30.5 34.0 55.0 52.0 42 50 6.4 M6x22 M6x60 24%x25 0.33 1515702018 100

RE 10090/06.2016, Bosch Rexroth AG



30 AZPW Standard performance | External gear pump Dimensions [mm]
Accessories

Gear pump flange, 3-hole, 90° angle, for square flange 30 (see page 14)

Complete fitting with
. . — L4 —
O-ring, metric screw set, - - M6-8.8
nuts and olive. Ms-8.8
y L'\
m
S T —— ‘ ]
N
\j R
i I | | ’
o |l D3 /L ‘ A
oD1 S1
LK D1 D3 L1 L2 L3 L4 L5 LA 1 DB Screws O-ring Weight Order number p[bar]
3 pcs. NBR [kgl
30 12L 10 37 30.0 10 37.5 46 38 22 6.4 M6 x 22 16 x 2.5 0.13 1515702 146 250
30 150 12 37 30.0 10 37.5 47 38 27 6.4 M6x22 16 x 2.5 0.14 1515702 147 250
30 18L 15 37 30.0 10 37.5 47 38 32 6.4 M6 x 22 16 x 2.5 0.17 1515702 148 160
40 221l 19 43 355 14 41.0 53 48 36 84 M8x30 24 x 25 0.29 1515702 149 160
40 28L 24 43 35.5 14 41.0 53 48 41 8.4 M8 x 30 24 x 2.5 0.40 1515702 150 160

Note

You can find the permissible tightening torques in our
publication 07012-B1 “General Instruction Manual for
External Gear Units”.

Bosch Rexroth AG, RE 10090/06.2016



Dimensions [mm] External gear pump | AZPW Standard performance 31
Spare parts

Spare parts

v Schematic diagram

Item Designation Order number  Material AZPW-22 - ...
CB... FB.. HO... NT.. CP.. CN.. QR.. RR12 RR20
1 Seal kit R 983 032388 NBR X X X X X X X X
R 983 069 216 FKM X X
v Driver for sizes 4 to 11 v Driver for sizes 14 to 22
— - ©
g1 A AA g A A-A
© ©
; F 1 ‘ g
R RES)

| i [
i ]
8.1 ] 6.30:2 §+0.06 T'I 6.540.1

‘ 20+0'2 12-0.2 23,0‘3 12.0‘2
30 30+0.1
Designation Order number EU Order number APA / US
Driver for sizes 4 to 11 1510 240 009 R 002 G11 025
Driver for sizes 14 to 22 1510240011 F 000 511 445

Note
Spare parts can be found online at
www.boschrexroth.com/spc

RE 10090/06.2016, Bosch Rexroth AG



32 AZPW Standard performance | External gear pump
Notes on commissioning

Notes on commissioning

General

Pumps delivered by Bosch Rexroth are tested for function
and performance. No changes of any nature may be made,
otherwise the warranty is rendered void.

The pump may only be operated with the permissible data
(see page 6).

Technical data
All mentioned technical data are dependent on manufacturing

tolerances and are applicable for certain boundary conditions.

Note that certain deviations are therefore possible and that
technical data may vary when certain boundary conditions
(e.g., viscosity) change.

Characteristic curves

When dimensioning the gear pump, observe the maximum
possible application data on the basis of the characteristic
curves shown starting on page 8.

Scope of delivery

The scope of delivery includes the components with the
characteristics described under type codes and dimensions
starting on page 16.

Further information
» Further information on installation, commissioning, and
operation can be found in the publication 07012-B1:

“General Operating Instructions for External Gear Units”.

» Extensive notes and suggestions can be found in the
Hydraulic Trainer, volume 3: “Planning and Design of
Hydraulic Power Systems”, order number R900018547.

Bosch Rexroth AG, RE 10090/06.2016

Filter reccommendation

Since the majority of premature failures in gear pumps
occur due to contaminated hydraulic fluid, filtration should
maintain a cleanliness level of 20/18/15 as defined by

ISO 4406.

Cleanliness level 20/18/15 can reduce contamination to an
acceptable degree in terms of particle size and concentra-
tion.

Bosch Rexroth generally recommends full-flow filtration.
Basic contamination of the hydraulic fluid used may not
exceed class 20/18/15 according to ISO 4406. New fluids
are often above this value. In such instances, a filling device
with a special filter should be used.

Bosch Rexroth is not liable for wear due to contamination.



Order number overview

External gear pump | AZPW Standard performance 33

Order number overview

Order number Type Page Order number Type Page
R983074473 AZPW-11- 004LCB20MB 16 R983072830 AZPW-11 - 022RHO30MB 18
R983074474 AZPW-11- 005LCB20MB 16 R983072863 AZPW-11 - 004LNT20MB 19
R983074475 AZPW-11- 008LCB20MB 16 R983072864 AZPW-11 — O05LNT20MB 19
R983074476 AZPW-11-011LCB20MB 16 R983072865 AZPW-11 - 008LNT20MB 19
R983074477 AZPW-11- 014LCB20MB 16 R983072866 AZPW-11 - 011LNT20MB 19
R983074478 AZPW-11- 016LCB20MB 16 R983072867 AZPW-11 - 014LNT20MB 19
R983074479 AZPW-11- 019LCB20MB 16 R983072868 AZPW-11 - 016LNT20MB 19
R983074480 AZPW-11- 022LCB20MB 16 R983072869 AZPW-11 - 019LNT20MB 19
R983074465 AZPW-11- 004RCB20MB 16 R983072870 AZPW-11 - 022LNT20MB 19
R983074466 AZPW-11- 005RCB20MB 16 R983072856 AZPW-11 — 004RNT20MB 19
R983074467 AZPW-11- 008RCB20MB 16 R983076112 AZPW-11 — 005RNT20MB 19
R983074468 AZPW-11- 011RCB20MB 16 R983072857 AZPW-11 - 008RNT20MB 19
R983074469 AZPW-11- 014RCB20MB 16 R983072858 AZPW-11 - 011RNT20MB 19
R983074470 AZPW-11- 016RCB20MB 16 R983072859 AZPW-11 - 014RNT20MB 19
R983074471 AZPW-11- 019RCB20MB 16 R983072860 AZPW-11 - 016RNT20MB 19
R983074472 AZPW-11- 022RCB20MB 16 R983072861 AZPW-11 — 019RNT20MB 19
R983072848 AZPW-11 - 004LFB20MB 17 R983072862 AZPW-11 - 022RNT20MB 19
R983072849 AZPW-11 - 005LFB20MB 17 R983072788 AZPW-11 - 004LCP20MB-S0007 20
R983072850 AZPW-11 - 008LFB20MB 17 R983072789 AZPW-11 - 005LCP20MB-S0007 20
R983072851 AZPW-11 - 011LFB20MB 17 R983072790 AZPW-11 - 008LCP20MB-S0007 20
R983072852 AZPW-11 - 014LFB20MB 17 R983072791 AZPW-11 - 011LCP20MB-S0007 20
R983072853 AZPW-11 - 016LFB20MB 17 R983072792 AZPW-11 - 014LCP20MB-S0007 20
R983072854 AZPW-11 - 019LFB20MB 17 R983072793 AZPW-11 - 016LCP20MB-S0007 20
R983072855 AZPW-11 - 022LFB20MB 17 R983072794 AZPW-11 - 019LCP20MB-S0007 20
R983072840 AZPW-11 - 004RFB20MB 17 R983072795 AZPW-11 - 022L.CP20MB-S0007 20
R983072841 AZPW-11 - 005RFB20MB 17 R983072780 AZPW-11 — 004RCP20MB-S0007 20
R983072842 AZPW-11 - 008RFB20MB 17 R983072781 AZPW-11 - 005RCP20MB-S0007 20
R983072843 AZPW-11 - 011RFB20MB 17 R983072782 AZPW-11 - 008RCP20MB-S0007 20
R983072844 AZPW-11 - 014RFB20MB 17 R983072783 AZPW-11 - 011RCP20MB-S0007 20
R983072845 AZPW-11 - 016RFB20MB 17 R983072784 AZPW-11 - 014RCP20MB-S0007 20
R983072846 AZPW-11 - 019RFB20MB 17 R983072785 AZPW-11 - 016RCP20MB-S0007 20
R983072847 AZPW-11 - 022RFB20MB 17 R983072786 AZPW-11 - 019RCP20MB-S0007 20
R983072831 AZPW-11 - 004LHO30MB 18 R983072787 AZPW-11 - 022RCP20MB-S0007 20
R983072832 AZPW-11 - 005LHO30MB 18 R983072886 AZPW-11 - 004LCN20MB 21
R983072833 AZPW-11 - 008LHO30MB 18 R983072887 AZPW-11 — 005LCN20MB 21
R983072834 AZPW-11 - 011LHO30MB 18 R983072888 AZPW-11 — 008LCN20MB 21
R983072835 AZPW-11 - 014LHO30MB 18 R983072889 AZPW-11 - 011LCN20MB 21
R983072836 AZPW-11 - 016LHO30MB 18 R983072890 AZPW-11 - 014LCN20MB 21
R983072837 AZPW-11 - 018LHO30MB 18 R983072891 AZPW-11 - 016LCN20MB 21
R983072838 AZPW-11 - 022LHO30MB 18 R983072892 AZPW-11 - 019LCN20MB 21
R983072823 AZPW-11 - 004RHO30MB 18 R983072893 AZPW-11 - 022LCN20MB 21
R983072824 AZPW-11 - 005RHO30MB 18 R983072878 AZPW-11 — 004RCN20MB 21
R983072825 AZPW-11 - 008RHO30MB 18 R983072879 AZPW-11 - 005RCN20MB 21
R983072826 AZPW-11 - 011RHO30MB 18 R983072880 AZPW-11 - 008RCN20MB 21
R983072827 AZPW-11 - 014RHO30MB 18 R983072881 AZPW-11 - 011RCN20MB 21
R983072828 AZPW-11 - 016RHO30MB 18 R983072882 AZPW-11 - 014RCN20MB 21
R983072829 AZPW-11 - 018RHO30MB 18 R983072883 AZPW-11 - 016RCN20MB 21

RE 10090/06.2016, Bosch Rexroth AG



34  AZPW Standard performance | External gear pump

Order number overview

Order number Type Page Order number Type Page
R983072884 AZPW-11 - 019RCN20MB 21 R983072877 AZPW-11 - 022RRR12PB-S0081 25
R983072885 AZPW-11 - 022RCN20MB 21 R983072894 AZPW-11 — 005RRR20PB-S0036 26
R983072763 AZPW-11 - 004LQR12MB 22 R983072895 AZPW-11 - 008RRR20PB-S0036 26
R983072765 AZPW-11 - 005LQR12MB 22 R983072896 AZPW-11 - 011RRR20PB-S0036 26
R983072766 AZPW-11 - 008LQR12MB 22 R983072897 AZPW-11 - 014RRR20PB-S0036 26
R983072767 AZPW-11 - 011LQR12MB 22 R983072898 AZPW-11 - 016RRR20PB-S0036 26
R983072768 AZPW-11 - 014LQR12MB 22 R983072899 AZPW-11 - 019RRR20PB-S0036 26
R983072769 AZPW-11 - 016LQR12MB 22 R983072900 AZPW-11 - 022RRR20PB-S0036 26
R983072770 AZPW-11 - 019LQR12MB 22 R983077585 AZPW-11 - 005RRR20PB-S0081 27
R983072772 AZPW-11 - 022LQR12MB 22 R983077586 AZPW-11 - 008RRR20PB-S0081 27
R983072755 AZPW-11 - 004RQR12MB 22 R983077587 AZPW-11 - 011RRR20PB-S0081 27
R983072756 AZPW-11 - 005RQR12MB 22 R983077588 AZPW-11 - 014RRR20PB-S0081 27
R983072757 AZPW-11 - 008RQR12MB 22 R983077589 AZPW-11 - 016RRR20PB-S0081 27
R983072758 AZPW-11 - 011RQR12MB 22 R983077590 AZPW-11 - 019RRR20PB-S0081 27
R983072759 AZPW-11 - 014RQR12MB 22 R983077591 AZPW-11 — 022RRR20PB-S0081 27
R983072760 AZPW-11 - 016RQR12MB 22 R983035496 AZPW-21 - 004-RRRXXMB-S0593 28
R983072761 AZPW-11 - 019RQR12MB 22 R983035497 AZPW-21 - 005-RRRXXMB-S0593 28
R983072762 AZPW-11 - 022RQR12MB 22 R983035498 AZPW-21 - 008-RRRXXMB-S0593 28
R983075416 AZPW-11 - 004LRR12MB 23 R983035499 AZPW-21 - 011-RRRXXMB-S0593 28
R983075417 AZPW-11 - 005LRR12MB 23 R983035500 AZPW-21 - 014-RRRXXMB-S0593 28
R983075418 AZPW-11 - 008LRR12MB 23 R983035501 AZPW-21 - 016-RRRXXMB-50593 28
R983075419 AZPW-11 - 011LRR12MB 23 R983035502 AZPW-21 - 019-RRRXXMB-S0593 28
R983075420 AZPW-11 - 014LRR12MB 23 R983035503 AZPW-21 - 022-RRRXXMB-S0593 28
R983075421 AZPW-11 - 016LRR12MB 23

R983075422 AZPW-11 - 019LRR12MB 23

R983075423 AZPW-11 - 022LRR12MB 23

R983075404 AZPW-11 - 004RRR12MB 23

R983075405 AZPW-11 - 005RRR12MB 23

R983075406 AZPW-11 - 008RRR12MB 23

R983075409 AZPW-11 - 011RRR12MB 23

R983075412 AZPW-11 - 014RRR12MB 23

R983075413 AZPW-11 - 016RRR12MB 23

R983075414 AZPW-11 - 019RRR12MB 23

R983075415 AZPW-11 - 022RRR12MB 23

R983074188 AZPW-11 - 005RRR12PB-S0036 24

R983067892 AZPW-11 - 008RRR12PB-S0036 24

R983074189 AZPW-11 - 011RRR12PB-S0036 24

R983070537 AZPW-11 - 014RRR12PB-S0036 24

R983074190 AZPW-11 - 016RRR12PB-S0036 24

R983064536 AZPW-11 - 019RRR12PB-S0036 24

R983074191 AZPW-11 - 022RRR12PB-S0036 24

R983072871 AZPW-11 - 005RRR12PB-S0081 25

R983072872 AZPW-11 - 008RRR12PB-S0081 25

R983072873 AZPW-11 - 011RRR12PB-S0081 25

R983072874 AZPW-11 - 014RRR12PB-S0081 25

R983072875 AZPW-11 - 016RRR12PB-S0081 25

R983072876 AZPW-11 - 019RRR12PB-S0081 25

Bosch Rexroth AG, RE 10090/06.2016



AZ configurator

With our practical product selector, it will take you next to
no time to find the right solution for your applications, no
matter whether it is Standard Performance or another
external gear unit.

The selector guides you through a selection of features to
all of the products available for order. By clicking on the
order number, you can view and download the following
product information: Data sheet, dimension sheet, instruc-
tion manual, operating conditions, and tightening torques.
You can order your selection directly via our online shop
and at the same time benefit from an additional discount of
2%. And if you need something really quickly, simply use
our fast delivery and preferred programs (GoTo). Then the
goods will be sent within 10 business days.

You also have the possibility to easily and conveniently
configure your individual external gear unit with our AZ
configurator. All the necessary data that you need for the
project planning of external gear units is requested by
means of the menu navigation.

For an already existing configuration you receive as a result
the order number, the type code, as well as further informa-
tion. If your configuration does not lead to a product that is
available for order, our online tools provide you with the
possibility of sending a project request directly to

Bosch Rexroth. We will then get in contact with you.

Link: www.boschrexroth.com/az-configurator

[ 00011 JR——

External gear pump | AZPW Standard performance 35
AZ configurator and Fit4SILENCE app

Fit4SILENCE app

You want to quickly determine the noise level of an applica-
tion but don’t have a measuring device at hand? No prob-
lem with Fit4SILENCE! Our new noise measurement app for
all Android devices can be immediately downloaded free of
charge. After calibration, you can start using it straight
away and conduct fast, accurate noise measurements with
different weightings in no time at all. An additional measur-
ing device is no longer necessary, because calibrated
smartphones using the app can achieve an accuracy that
approximates professional measuring devices.

Last but not least, the app contains interesting information
about the SILENCE PLUS technology, including an audio
sample.

Link: www.boschrexroth.com/silence-plus

v Download the Android app:

—

.

FitdSILENCE  Rexmth

RE 10090/06.2016, Bosch Rexroth AG



36  AZPW Standard performance | External gear pump

Your notes

Your notes
Bosch Rexroth AG Bosch Rexroth (India) Private Limited
Mobile Applications Head Office, Plant and Service Centre,
Robert-Bosch-Stra3e 2 Near Village lyava, Sanand Viramgam
71701 Schwieberdingen, Highway,Taluka Sanand, Ahmedabad —
Germany 382170, India
Tel. +49 711 811-10063 Tel. +91 (2717) 67-8000
brm-az.info@boschrexroth.de info@boschrexroth.co.in
www.boschrexroth.com www.boschrexroth.co.in

Bosch Rexroth AG, RE 10090/06.2016

© Bosch Rexroth AG 2016. All rights reserved, also regarding any disposal,
exploitation, reproduction, editing, distribution, as well as in the event of
applications for industrial property rights. The data specified within only
serves to describe the product. No statements concerning a certain condition
or suitability for a certain application can be derived from our information.
The information given does not release the user from the obligation of own
judgment and verification. It must be remembered that our products are
subject to a natural process of wear and aging.



	Functional description
	Product overview AZPW preferred types
	Type code single pump
	Technical data
	Flow and power characteristic curves
	Drives
	Dimensions – drive shaft
	Dimensions – front cover
	Dimensions – line connection
	Dimensions – preferred series 
	Accessories
	Spare parts
	Notes on commissioning
	Order number overview
	AZ configurator
	Fit4SILENCE app
	Your notes

